Unit 3 Handout 5: EOC A Debrief 


A. EOC A Document
From “Sweatshops Benefit Children”
by Radley Balko (Capitalism Magazine, May 11, 2003) 
Two reporters [Nicholas Kristof and Sheryl WuDunn] relay this anecdote from Thailand: 
One of the half-dozen men and women sitting on a bench eating was a sinewy, bare-chested laborer in his late 30’s named Mongkol Latlakorn. . . . Mongkol mentioned that his daughter, Darin, was 15, and his voice softened as he spoke of her. She was beautiful and smart, and her father’s hopes rested on her. 
“Is she in school?” we asked. 
“Oh, no,” Mongkol said, his eyes sparkling with amusement. “She’s working in a factory in Bangkok. . . . She’s making clothing for export to America.” . . . 
In 2000 the BBC did an exposé on sweatshop factories in Cambodia with ties to both Nike and the Gap. The BBC uncovered unsavory working conditions, and found several examples of children under 15 years of age working 12 or more hour shifts. After the BBC exposé aired, both Nike and the Gap pulled out of Cambodia under public pressure. Cambodia lost $10 million in contracts, and hundreds of Cambodians lost their jobs. 
Third World Countries Need the Advantage of Cheap Labor 
In truth, every prosperous country on the planet today went through an industrial period heavily reliant on sweatshop labor. The United States, Britain, France, Sweden and others all rode to modernity on the backs of child laborers. The choice was simple: kids worked, or they went hungry. It wasn’t a terribly rosy set of choices, but at least the choicewasavailable.Anti-globalizationactivistsaredoingtheirdamnedesttomakesurechoiceisn’tavailableto those living in today’s fledgling economies. 
Critics counter that unlike in the early 20th century, western companies today are wealthy enough to pay “living” wages, to establish comfortable working conditions, and to protect third world environments. They may be right. But then, what advantage would there be to investing in the developing world in the first place? Cheap labor is the only chit the third world has to lure much-needed western investment. Take it away, and there’s no reason for western corporations to incur the costs of putting up factories, shipping, security and the bevy of other expenses that come with maintaining plants overseas. . . . 
How Free Trade Beats Sweatshops 
The best way to lessen the plight of sweatshop workers is more free trade, not less. If workers make 75 cents per day in factory A—the only plant in town—the best thing that could happen to them would be for a second factory to open up. If Factory B pays less than 75 cents, it won’t attract any workers. If it offers exactly 75 cents, it might attract a few workers who couldn’t get jobs at factory A. If it pays more than 75 cents, however, it might attract the best and brightest from factory A. Factory A then must decide whether to up its wages, or look for new labor—which means more jobs. . . . 
Sweatshops Lead to Success 
Recent history teems with examples of how sweatshop labor has helped poor economies leap to prosperity. . . . 
China—home to millions of sweatshop workers—doubles its per capita GDP every ten years. . . . Kristof and WuDunn write, “. . . video arcades and computer schools have opened to cater to workers with rising incomes . . . a hint of a middle class has appeared.” . . . 
Swedish economist Johan Norberg . . . predicts that all of South and East Asia will be prosperous enough to ban child labor entirely by 2010. 
But that’s just it. A country must be able to afford to ban child labor before child labor is pulled out from under it. 
By Radley Balko 

B. Question 1: Identify the author’s argument, main idea, or thesis
[bookmark: _GoBack]The authors argument, main idea or thesis is: 																																																							


C. Question 2: Explain the author’s line of reasoning by identifying the claims used to build the argument and the connections between them. 
Use the following template:

The author’s first claim is 																											 The evidence used is 																												
The author’s second claim is 																											 The evidence used is 																												
The author makes this the second claim because (why isn’t this claim first?) 																																				
 The author’s third claim is 																											 The evidence used is 																												
The author makes this the third claim because (why isn’t this claim first or second?) 																																			


D. Question 3: Evaluate the effectiveness of the evidence the author uses to support the claims made in the argument. 
Overall, the author’s evidence is ineffective. One piece of evidence was 																																					
However, this piece of evidence is not reliable because: no date, no author, not an expert, the study is too old, bias, vested interest (pick at least one).  This is shown by 																																																							

Another piece of evidence was 																											
However, this piece of evidence is not reliable because: no date, no author, not an expert, the study is too old, bias, vested interest (pick at least one).  This is shown by 																																																							
Contrary, one piece of evidence which was effective was 																																															  This piece of evidence was effective because: reputation of the author or publisher, no vested interest, a clear expertise, neutrality (pick at least one)    																																																															


[image: ]
image1.png
Persuasive Language
INTRODUCTION TO ETHOS. PATHOS 2 10G0S

> ARISTOTLE was ek phsopber o e i the £°cntaryBCE Hews n ot
ik ond e on manysbjcs - o gicond it by and metaphysics.
lea Oneaes in which Arstole was paticuldly nteresied,was hetoric That i, the st of
S22 v spsking o wing Ho v e ol ook eiled On o which
ot hstheoresf v ngiog s spesch st gy, in s work
| he cpounds o the coceps of thes, Iogos and pathes, 3 tons for porsusie
ity bty il
e underdon,they b sty applied oo ownparsase spckingad it

os . Greek wondmesning haractr. Intomsof psiasive languag, 5
an appes to suthority snd credibiliy £ 3 e of arvincng 30
audence of th rlabl charce or xdbily of the speskerter, of the
edbiyofthe rgument

Wi n mportnt ol ofprsuasion becaus fyou o gt your adiene
10580 you o youragumen) il and sy, will b much s
topersiadethem,

PATHOS

Patas s  Grok word meaning sfleting or ‘xprience’, and i s sed i
pesuahe speech 5 an appea o the emtions o e suenc Pt s he
‘wy ofcesting  pesusive aument b voing sn emtional response i the
Sudinclesdr

You an use pthos when tyng to peruade, by sppeaing t0 30
audence's hopes an drars, playing on thew e or wories o appealing o
heiparicubbeles ordesl

Logosisa Greskword mesning s wod o s nheic isan appealto
ogic and reason 15 usd o persuade an uenc by o though fct
snd oty

Logas an b a sl oo of pesuasion becaus f you an e an
srgument hrugh loicl nd e resaing, e sdnce s mre bkl o
bepersiaded

Hyou canincude a combiationfthes hreesemans i you porsusve speaking an writing you
il ppes 1 your udiencesavtion,sose o essoing snd e in oo, nd hrsor yeer
witing wi e morconincin. Ty o sty eaveothos,pthosand ogs ite you persaasve
wiing and speking. /

U0





